\"o

"o& .
1 Acard with the word BR I[_K written on it was ' d&‘ 6. The diagram below shows parts of a flower.

- placed “inl: front ‘of @" mirror. ‘Which one of
fuIluwmg“shnwsw ‘the Wnni would appear 1
mirror? \(o

A NJ148 © °‘° -
B. KCIRB
. XJIN8.
p. BRIDA

. Absorption of -water ahmentary canal of '

human beings takt@@?aq& the

A. stomach
B. duodei s\&
TES.

C. small i

g@%

is NOT
D. lar

Which one of the

labelled parts
CORRECTLY matched with its function?

Part Function

3. s g }'ve pupils observed and grouped some. ._

AL W Receives pollen grains.
&ma \Jmmals Which one of the following animals B, X Produces pollen grains.
ef¢ CORRECTLY grouped? C. Y  Develops into a seed afler fertilization.
0& 2% Ant, tick, spider. . & Protects inner parts of a flower.
< N B _Beetle, moth, ant.
C. Spider, weevil, beetle. 7. Which one of the following parts of 2 maize grain is
D. Tick, moth, weevil. CORRECTLY matched with its function?
Part Function _

4. Which one of the following groups cnnsmts of non- A. Cotyledon Protects inner parts.
flowering plants only? B. Plumule Develops into roots.
A.. Moss, grass, pine. C. Endosperm  Stores food.
B. Femn, algae, pine, D. Radicle Develops into shoot.
C. Moss, algae, cabbage.
D. Cabbage; grass, fern. 8. Which cne of the following is NOT an excretory

organ?
» Which one of the fnlinwmg statements about ﬁ_gaskinl'

vertebrates 15 TRUE? ) B. Lung
A. Fishand amphibians have scales. - C. Kidney.
B. Amphibians and reptiles lay their eggs on land. D..-Rechini.
(. Fish and birds have constant body temperature. : - _
D. Repliles and birds lay fertilized eggs. 9. Which one of the following are the percentages of

carbon dioxide and nitrogen in the air?
1% and 21%.

0.03% and 73%.

21% and 78%.

0.03% and 1%.

O 0w
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§\
&S

Adrtight
L1 can

ﬂ.ﬂ' "

12.

i3.

e &

N _ :
I The diagram below shows a set-up that was used to

g

&
The processes [, I, 111 and TV in the uhanébggw
bring about changes in states of matter. (b'(\

SOLID SN@EZOS
2
w@_‘_

LIQUIDS

3 Q
< < -y ;
The progesses Q;\l&'t_ rEquire INCreass 1 temperature

are;

A, LQE? &
B.Q,I,{@*.g
CATV

\TE

investigate a certain property of air,

; Drop of ink

Which one of the following would “NOT be
observed if the tin can was heated gently?

A. Bubbles in the basin. -

B. Drop of ink moving towards water in‘the basin.

¢ Water level in the basin decreasing - when
heating is stopped.

[ Water level in-the glass tube decreasing when
heating is stopped. FASHeT TN

Which one of the following factors will NOT affect |

sinking ard floating of a material in water? The
A. mass of the material

B. type of the material

C. shape of the material

D. size of the material.

In which one of the following activities is friction
LEAST needed?

A. Writing.

B. Riding a bicycle.

C. Walking.

- [, Using pulleys.

\6

14. Which one of the following statements about 2
single fixed pulley is TRUE? The effort
A. moves a shorter distance than the load
B. and the load move the same distance. -
C. moves twice the distance the load moves
D. required is half the load. '

15. Standard five pupiis added equal amounte of water

tp three equal amounts of soil samples J, K and L in
funnels as shown in the diagrams below.

After 10 minutes the pupils measured the amount of
water that had drained through each soil sample.

Water

~ Funnel
Cotton wiool

Drops of wate

Jar

7 ||

[ S
LS{:il sample

5 [

i Amount of water | '28
l collected (cm) B '

| —

Which one of the following- statements 18 a
CORRECT conclusion from the results obtained?

A. J has larger particles than L.
" B. K has larger pirticles than L.
(. K has larger particles than'J and L.

D). L has larger particles than J wnd K
16. Which: one ‘of the following
materials only? '
A, Tin, aluminiwm, cOpper.
B. Iron, steel, cobalt.
C. Tin, iromn, copper.
0. Aluminium, steel, cobalt

comsists of magnetic

17. When breathing in, the
4 diaphragm tlattens
B. lungs shrink
(. diaphragm becomes dome shaped
. volume of the chest decreases.

18. Which cne of the following LEAST conserves soil
A, Mulching.
B. Planting cover crops.
C. Contour ploughing.
[y, Terracing.

Ti '
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19. A person miends to push a drum full of oil along an blvs\ZT The chart below represents a simple classification

inclined plane on to a platform.. Decreasing ﬂﬁ\
slope of the inclined plane would

M. decrease effort applied ; Q)\%@
B. decrease effort distance oy x,b,Q QO

. decrease load distance Q &
1. not affect the effort applied. c:,\' -Q}

2. Which of the following infor 'L%Q’Qﬁmmﬂy given
when obtaining medicine [ro trzﬁhnrmacy?
A, Expiry date. o '
piry @
B. Disposal method @Eta@ﬁiuers_
C. The dose. Q:l‘
D. How to stox E{&ciiuinc.
M
21. The followge @{uhcr crops EXCEPT:
A f:rni:@& \
B. ca¥iva
(‘.\@rrq'@uot

oY) ot

N
. ¥hen sand particles are put in a glass of cold water
X “nd heated at the bottom, the particles are secn to
rise and fall. This is because sand particles
A, are carried by hot water which comes down on
cooling

B. tise when heated and come down on cooling

C. become lighter than water when heated

D). and water rise when heated and come down on
cooling.

23. Which one of the following shows the 4™ and 7"
planets from the Sun?

A, Wenus, Neptune.
B. Jupiter, Saturn.
C. Mars, Uranus.
D, Jupiter, Uranus.

24. Which one of the following shows the correct order
of energy changes that take place when a bulb is
connected to a dry cell to produce light?

A. Chemical — heat — electrical — light.
B. Electrical — chemical — heat — light.
C. Chemical — electrical — heat — light.
D. Electrical — heat — chemical — light.

25. Which one of the following consists of only
characteristics of insect pollinated flowers?

A, Sweet scented, large number of pollen gramns.
B. Brightly coloured petals, sticky pollen grains.
C. Light pollen grains, sweet scented.

D. Brightly coloured petals, light pollen grains.

26. Which one of the following is NOT a source of

hght?
A Moon,
B. Fireflv,
C, Star
D. Sun.
TI ps on

7

28.

29,

of pollutants:

Pallutants

River water pollotants

WL‘!' YJ“W

Fertilizers X Sewage Y

Soil pollutants

The pollutants represented by X and Y are

: X b
A, Factory waste Acid ram.
B. Herbicides il spillage.
C. '0il spillage Acid rain.
" D. Herbicides Factory waste,
The MOST approprniate methed of ‘separabing a

mixture of sand and sall after addition of waler is
A, decanting AR i

B. filtening

C. sieving

. evaporating.

In which one of the following processes is oxygen
NOT used?

Ac Making plart food.
B. Bummg.
. Breathing,

3. Germination of seed.

Which one of the following statements about HIV
and AIDS is TRUE? |

#. People living with HIV and /iDS are thin.

B. “HIV and AIDS is a curse. ¥

C. Premarital sex is the only m« U= of transmissior
of HIV and AIDS, '

0. People fiving with HIV amt ATDS are advised
to eat small amounts of food at a ime.

Which one of the following s NOT an essental

constituent of commercial aninal feeds?

AL Water,

B. Vitamins.

. Proteins,
D. Carbohydrates.

Which one of the following is likely to canse an
increased growth efaater plants m a nearby river?

The presence of a

AL market centre
B. faclory

{C. garage

L3 tea farm.
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33. A child with thin and brown hair, sweflen hands,
feet and face is also likely to

A
B.
£
D.

©
have knock knees o 0@
appear weak and inactive @.Q (@)
have a face like an old pc%iﬁo‘

have faster heart bealy” &
R

34. Which cne of 1116&]%&»‘. ng statements is NOT
he

TRUE about 111%ﬂur

A
B
iz,

= y

improve e’ %ﬁf the soil to hold water
bind aticies

relgige lQﬁfl-f_’n!E, very fast to the soil

D, iehfese air circulation in the soil.
L\

35. JR/high one of the following is a function of fibre
Q& tl\é\diet?

e &

N \\ B
N\
HLH

Helps in getting rid of undigested food.
Helps in absorption of digested food.
Adds nutrients to the body.

Helps in digestion of food.

36. Draining of stagnant water can prevent the spread

of
AL
E.
i
.

cholera and ryphoid
bilharzia and malaria
typhoid and malaria
cholera and bilharzia.

37. Which one of the following DOES NOT produce
electricity”?

A,
B.
C.
1.

Bicycle dynamos.
Batteries,

Water dams.
Solar panels.

38. Which one of the following descriptions of beaks
would be for a bird that most likely feeds on nectar?

Al
B.
.
D.

Short and curved.
Long and curved.
Short and strong.
Long and straight.

39. Which one of the following animals belongs to the
same group as a weevil?

A
B.
C.
D.

Crah.
Mite.
Spider.
Termite.

40). Which one of the following statements 18 NOT
CORRECT ahout a windsock?
A windsock :

A,

B.
£

D.

is open at both ends

gets filled with air and rises

points to the direction from which wind blows
should be placed in the open field.

A

41. Which one of the following examples of levers has
the position of effort between the positions of load
and fulerum when in use?

A, Spade.

B. Wheelbarrow.
. Claw hammer.
D. Crow bar.
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Eye
Candle
Cardboard
The property Nty 'édtad is that light
A is rei’rac@d :
B. n;ddék § !bti"dlghtlljlﬁ 47. The presence of thick white and mountain shaped
: “t clouds are a sign of
l.‘: < {'N t pass through opague materials. A. heavy rain falling soon
B. low temperatures
3-\ W PﬂLh one of the fellowing groups :_11 sources of c ﬁ;; ‘:rl;[;l:ﬁ;? i
<< e‘;ﬁrg} consists of only renewable sources? D strong g blowing
™ Firewood, kerosene, waterfall. :
E' E.lzldi{:hajw?tilblqga;' 48. A lactating mother needs foods rich in iron
= B?‘*S"f ’ ‘;a L "‘;m s A. o protect the baby against diseases
L AIRERN SELOREHE, WEREDO0. B. for the formation of strong bones in the baby
. ’ s e C. toi ilk luction
4. Which one of the following is NOT a reason for D 12 ;tﬁngzcbr;;& lfﬂr:: {l;;r:in birth
lighting a house? o ’ : . '
A. For safety purposes. ‘49, The component of soil that improves its water
B. To c1lscourage pests. holding capacity is
C. To feel warm, A et
D. To read comfortably. Tk :
osae 7 i ; o =uh gy C, organic matter
L% ;]J;f{; é'.s;illtmmg are ways of maintaining  tools !J.‘Hving organisms.
A Elc*:‘“,mg after use 50. Which one of the following BEST describes the
E grheflsmg_ terin envirdnment?
[JI i \_M pe;‘flg larl A, The summounding of a living organism.
- using them regularly. B. Where a living organism obtains food from.
. . C. Where a human being lives.
6. Which one of the following effects of drug abuse D Th:‘tf:rr:mi?:qivf;lzgﬂ;gﬁism
consists of only social effects? : :
A_ Theft and lack of concentration.
B. Drug induced accidents and truancy.
C. Rape and withdrawal symptoms.
D. Drug addiction and loss of consciousness.
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